WIR#11

Week-in-Review#11 - Final Exam Review
Math 142 - Fall 2024, by K. Kilmer

Please note that this is not an all-inclusive review. This is just a sampling of problems from the semester. To work more problems, please see

WIR#1-WIR#10. 1 will be working through a subset of these problems at the live review. .
S~ Soy  Toom b 2stanend
1. What is the total area of the region(s) bounded between f(x) = %xz —6and g(x) = %r‘ —2x?7 Note: Answers

are rounded to four decimal places. V\a(,\-{ |
(a) 34.9847 . vse it
-4l
(b) 1.3281 -
(c) 33.6566 1188015 419022 2. q 4704877
36.3I28 e f(\h-ﬂdw (\I,—‘{z\)ohi 4 pLIzY26S
:  of the above 186%0
€) None of the above g2 ,68075° . ) 28
2. Find the area of the region bounded between f(x) = \/_ and g(x) = jxon I.hL. interval [7,13]. Note: Answers
are rounded to four decimal places. 1 N v window: Y-min=1
N ! y-max=13
2816 ‘ 200m O oM Pt <l
®) 2.1995 § 1 EnTnt!
(c) 0.0821 Y f("}.“h) dx+ ‘((\17,-\/.30(3‘
(d) 2.1174 1
8§
(e) None of these X \ ~ O'Ogl\l 12904+ 7 . IQQL{%({'I"S

- +—
1 ot = Ei.?ﬁf“”s
3. Given the price-supply equation p = S(x) = §x+ 200 dollars, when x items are supplied, what is the pro-

Equil @uarnhf-\/

ducers’ surplus for this item if the equilibrium price is $210?

) p=5lx) “gX+r200 210= £ +200
(a 52,52050 lo— e\l\
C 210 50 D= ’(

(c) $10,500
(d) $375

4/
(e) None of these

' 2190 5
4. A particular item has a supply equation given by p wllars, gives the price per item when x

items are supplied. The quantity of items demanded is 300 when the price is $35 each, but for each additional
$4 increase in price, the quantity demanded decreases by 5 items. Assuming the demand equation is linear,
what is the Producer’s Surplus at the market equilibrium? Note: Do not round anylhm% until your final
answer. The final answers are rounded tQ the nearest dollar. S’P\"“’ 420517

(@) $26465 DO o (7\” u/\;}z@ f (12707585 )X
@$12,789 auantt +H f ﬂ‘) 12.6759 - — m
© siners (300,%9) (199)3 \ 42)
(d) $15,832 m= 20 L2 V‘f:; :
M - P - VP g4.10519
(e) None of these Me 500 \
p-35°"% (1v~-’)¢><>3
p= ‘%x—r 140435
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5. Evaluate the following limit: lim

Divdle el term by the highest power
42 1253 pf x intre denominator

P
(a) 4 =i:"$—?_ w =L‘;”W&—)—'
2 Aot $Jg_ 2"
® - TR B e
) Y = — L r2-5X
© 0 I;g@( 4+ Z 5 6%}—% =, i QDOQ

r
(d o‘il‘";ﬁ bOU"J NEY /AN
@onu of the above ]mn ('\0 - )
" Ak

6. Given the graph of f(x) ar%dg x)%elow what is the value of W (=3)if h(x) = f(x)-g(x)2m=2 3 2 €1 3)
h(x) £ jlx\-k AR =2 4y

'—3 e, 3= 1‘(5)1(/\3\)*(53“3\ () ST \
(b) —1/2 -z lz i ?

(©) —4 -(7,\ I\H'Z\ I2) =|-3] u | x

R (O 1 1A
T =Yz \
(d) —1 i
m==\ =
(e) None of the above T t 233
31-2) .
. You are asked to find two non-negative numbers x and y with 2x + y = 20 for which the term x'w2 is maxi-

mized.

Okj. Max P=xy?2

In solving this problem, you would need to solve the following: \I_ ;Z}‘%/’.\J

@ aximize P(x) = 400x — 80x> +4x* on [0, 10] )= xl- ZX"'ZO\Z

(b) Maximize P(x) = 400x — 80x> +4x* on [0, o) PLr) =y YyE- S’D)H“{OO)
(¢) Maximize P(x) = x* on [0,) pLX =Y y 3_gORZ+HOOX ON Lo, lD]
(d) Maximize P(x) = 2x+ /x—20 on [0,10]

' ¢a|=
(e) None of the above
. Which of the following represents f '(x) if f(x) = vx+3? [0) l O]
o 10

Vx+h+3—vx+3 Jf(x+.k‘!) fx)
h 50 ;I:"ftl)\/x+h+3+\/x+3
. 1 . x+h+3-x+3 . Vx+3+h—x+3
((W} é\/x+3 %'%h{x/x+h+3+\/x+3) PK},",‘}] h

tn £
(a) (i), (ii), (iii), (iv), and (v) only -C'l)()" ',‘l_.’:) ﬂ;"

- lim ((rms J%r3 ) ([enFs +%Fs)

@ (i), (iii), and (iv) only

(c) (i) and (iv) only h=0 h (s - JZ-‘a,)
(d) (i), (iv), and (vi) only = im M P B
(e) (i), (i1), (iii), and (v) only 0 yi(J (1—”"’3*‘\’_—*1-5) V\-‘ID \|x+n+5 +J-3

~l 2+ (xr3 ’-l V42
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Week-in-Review#11 - Final Exam Review
L Math 142 - Fall 2024, by K. Kilmer
Use |m]>ltcn‘ AT -

. _fi Y Uy oD =2/ ot
9. "‘x},"_4x2+6y§=ex_4y,whallb§l‘ (\L" Li\/* "’l’\'\) d%(c qY)

ks ﬁ + )4 y.H
(}d_y % L————AX 3" gty 8%1187 L
oo & _
dy 48 3y GL I Gy v 5T e 13+8><
® =314 ‘l )
dy € —4+8x

© =318y

@ y & +8x—y>
dx  3xy2+18y2+4

(e) None of the above

10. If the appropriate u-substitution was made for the integral below, which integral would you obtain?
v=5%>-]8x
15x —27)(56% — 18x)%dx = 159 (19%-27) ol %
[Jase—21) fm 154) oty
du= 2 Sx—)o %

(@) 3 / ' du S a- 51«‘!)04% ( _
(6¢ m) 3(S%-)o X Loly= (Sx-a)dx
@; [« a =2

© 6/umdu :Su '3"%”‘”‘ %g “dv

(d) /u'"du

(e) None of the above

note: (B) ie. indetermipate fxm. Thus, wea '%‘bm,'f,ff.[
11. Evaluate the following limit where « is some constant such that a # 3:

) 2 —d* lim ()u»a)UPﬁ= lim XA - &F& . |24
MG a3 e (B3 x— x> a3 a3

(a) 0

x+a
(b) T3
1

(c)
a—

2a

sl

(e) None of the above
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12. Find the equation of the line tangent to ttlc ;2ph of f(x) = In(5 — y/x) at x = 4. Round all values to_four

decimal places. Find The gor;cg (e £19) =)a(9-1"2 Find e y-tood.

: p ® favfb“‘* nc| i ) _\)I:( ) @-I‘V'C Soit J_._-_—FH\

- —_— -

y: ~0.0833x+1.4319  £'[0)= g-x2 " T3X £19)= Inls=5)

() y=0.3333x—0.2347 , \ o = In(5-2)=Il3)

! £14)= _—;,,--;(4\ (4,1n13)) o

(¢) y=—0.0833x 5-4 “_ a poV”

= g = 1 =2
(d) y=0.3333x+2.4319 = 2z
(e) None of the above L . slopc +
@rind e equotion of Ho.ges

(4, 1a(D) M=z
y-ni) = ‘\lb(.*“")
) __L?%*,_l}_*.m(g) “ = -0.0833x + ).4 3)9)
\

) -0.0833 __" 1.2 g :
13. If .md Reimann sum with 20 subintervals of equal width is used to approximate the area under the
curveol f(x) = 3x2 +9 on the inlcrv%ﬁmm x=110x =235, what is the height of the secon r‘(cl'Smglc (from

the left)? IR T Y "
" (1.9)
(@) 12.00 -6l -p.2 ¢ % hc,-jm‘- s T
(b) 13.32 20
14.88 .
1575 1otz pr‘j”:d
: Z
(e) None of the above «? ( |“n = 3( Pn-z*? = [‘4 88 A‘/feC‘fﬂ-*ﬁk
14. For what values of x is f(x) continuous? NOte : We have o~ rvle for
) a\l vawes of X
x*—4 .
ifx<4

X

flx)=

l()x+20@..

—, ifx>4
x+6

+ =
(@ (o0, —6)U(~6,2) U (2,4) U (4, ocreck cocn ve Grnce cach cuk oFEH ()
evie® \vac@’. . I f14)> Y. 20 v
(b) (—0,2)U(2,4)U(4,c0) «ont. on its domaia ~cv"';"','*"m"’ R ST T e SN T PN
(© (—o0,—6)U(~6,2)U(2,) * X270 e e TR NS e 2
ulL. ., Bole @.s?llst a0 S | lim 10X¥20 L 10120 60 -
. M. a2, ince ¥ lim )= lim B2 17
00,2)U(2,0) vie(®) is dVoRt. =6 S f(x e 10
’ S"lmc@ﬁ‘?, is on ne intoret ngr o7 me int n).(s:;‘é ol il
©) None of the above ‘Ii““ p—“}::)‘* an >3 ll'_/:.'*ﬂﬁ\) =0V .
3 acott o ELO=FLN Y D EOT
e 04 gisco) I im, ELO= RN T )
?D\ ) is 007 v v Y-:Li
a ‘Fon (_’Oo) 7/)\}(,1($>
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15. Given that the domain of f(x) is all real numbers, use the graph Iow to determine on what
interval(s) f(x) is concave down? _F 1S Con Ve down wher 7 is decrer 613

VTN . . S—
(2.4 ) 1 e Raun

Week-in-Review#11 - Final Exam Review
Math 142 - Fall 2024, by K. Kilmer

n

(@) (—o0,~7)W(0,3)M(5,) _(" 1% olcoveaéfﬂj
(b) (—3,2)W(4,) on (’%'5 od

s

aT /
=

© (~7,0)w(3,5) oS £ 15 Conmvc olown__

( o0, ~3)W(2,4) on [~ 3> (2. ). (;é’f

(e¢) None of the above

16. Given the graph of f(x) below and that the area of region A is 2.5, the area of region of B is 4, and

q
the area of region C is 3, what is / [2+6f(x)]dx? = J lo( X+ b g-P( Q) dx
(a) 67 ) 5

- m e
(@)

(e) N(Ec of the above
Jloh« 24l 94‘”'}"'):3”‘

]FL*W- -1 5*‘4 3519

17. Given the graph of f(x) below, which of the following statements is FALSE?

Ly hm“f oo |

Br lim f(x)=3 T A /\
x93y ﬂ/x/\ Ay

@ m does not exist. F i /

TR AEI_I\-I/ 34

@ lim f(x)=1T -
x-3 | sl
(,e/liml f(x) > —eo T =
X \
Copyright © 2024 Kendra Kilmer Page 5 of 13
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24
18. For what value(s) of x does the line tangent to the graph of f(x) = —x + x2 73x + 65 have a slope of 87

(a) x=—0.25 Slope of ‘[’a.la,avﬁ‘ Jine lS jl\ldl/b by f /)&3
(b) x=—111.625 and x = 600.5 £ 2x™+% T3
2
@x— 9 and x = 4.5 bor et value of ¥ is £10)=8
) x= —14.6326, x = 0.8283, and x = 7.0543 2y 2137 g
(e) None of the above 7,)L7'+’))( gl1=
(2e-2)(x + 1).=2
Z»Pi _
Y
_(9- -%%) >
19. What is the absu]ulvaluc of f(x) =vV9—x2on [~1, 4]? Note: If needed, answer choicgs are
rounded to four decima places. Con* fecnon Clowd int > use 'r::’ closcd interve
Find CV . —LlX ’
2 =4 = S
.2.0801 =0
£'(\)70 whnen q-y2
(© —1.9129 219 is undefFincd when 3: 1}’)0
(d) 2.2500 ¥ ‘nt a= w2
(e) None of the above c¥ on s = "5,
T
ave fo.b\C
On R b,
= .
C O 1.0%0D
3| 0
~1.2129

20. Suppose that we don’t hl{/e a formula for f(x) but we know that f(3) =7 and f'(x) = v/2x2 — 10 for all x.

What is the equation of the line tangent to f(x) at x , -3 _
’ D siope of %'mw%();*)hncns £(3)=3an=10 e =2

) = 2x 4
(b) y=2x—11 Opqwﬁon of line (37) m=17
() y=7x—19 \) 9= Z M 3)
(d) y=7x-11
(e) None of the above \‘ Z%

Copyright © 2024 Kendra Kilmer Page 6 of 13
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~/~~""N\
B T-T7 8’
21. What is the derivative of f(x) = m Y‘)’ =z
Tx—In(x) B* - Jx-Inx
@ f'(x) = (7x—ln(x))(e"+3f)—Fﬁ"+r"—4)(?—ln(x)) Treten B.‘ L
- (1x—In(9)? Tloetenrr BEITX
1
(eF+x*—4) (? - —) —(7x—1n(x))(e* +3x%) I B
'(x) = a Y 3P (- %X
(b) f'(x) = Tx—n ()2 (=10 <) (e “+3x2) =~ (€ % N
(c)f’(x)=ex+3]x2 10 (‘H('“'”0
T3
(Tx— In(x))(e* + 322) — (5 45— 4) (7 %)
CLCE (x— ()

(e) None of the above

22. Given M:) 30, M_:B and j g(x)dx =7, what is [ 3£ (x) — 2¢(x)]dx?

(@) 133 J{bflj.) thﬂjo’%— f&’[ﬂd\& Z!j[ﬂ)d%
[

(b) 126

(c) 76 v
g = )_;{f (x)olx*-f (X)olx
off w2 [t {0

(e) None of the above

-8
=0 -{-18+7) =90~ 5(- 1.) 7o+zz
23. For f(x) below, state the value(s) of x for which the function is NOT continuous. Lz
heve must I pick up m\; p&VlC)

: W Pfal s (-3) is viot de i

’ x=3 : ot de€ined
y \ b y=-1 od.T fails, w» 'S .
T _ lim £(3) doesnotexis
a3 ':\'/31‘ =3 gnd T farls, o

-3

_4
(2) x=—1andx =3 only
@xz—&xz —1, and x = 3 only
(¢) x=-3,x=—1,x=3,and x =4 only
(d) x=3only
(e) None of the above

Copyright © 2024 Kendra Kilmer Page 7 of 13

WIR Page 7



MATHEMATICS

TEXAS AKM UNIVERSITY

i

24. For f(x) = ‘; +2%, what is f'(x)?
— 0= g% YL
(a) 'A6x"7/“ +x-2571 ‘ [ -3 -‘l/.,\+ ln2- Z)L
i = |/4+ P -(:()Q: re T’X
3 = -3 X:’NH"Z' 2
@—ﬁx 4 L n2.2* 22
(d) —6x'/441n2-2*

Week-in-Review#11 - Final Exam Review
Math 142 - Fall 2024, by K. Kilmer

(e¢) None of the above

c?x)

/N
= 2+ 0.02x where x represents the

25. The daily marginal cost function for a local company is given by M(x) sents
number of ladders produced. If we know that it costs $750 to produce 50 ladders, how much does it cost to

produce Mgy=3 O el)= [c1adx = j (1+0.02x)d ¥
:z: = 2w 822 T vy
(c) $874 Buse C(50)=750 10 solve Fof c,

(d) $819 16D = 2.(50)+0.0) (50)*+C,

(e) None of the above L25=C)

(® C(¥)=2r+0.01x*+ 625

2
@ Fird C(80) = 2(30)T0.01(80)°* b25
=459 )
26. The table below represents the position of a particle (in meters) after ¢ seconds

r JO[1]2]3]4
s() [0 1015 [ 17 | 20

What is the average velocity (in meters/second) of the particle over the time period [2,4]?

(a) 5

®)2.5 < s(-s(2)_ 20-15 - 5 o, gm
(c) 2 AVﬂ Vel "i’l - Ca z [S
@ 3

(e) None of the above

Copyright © 2024 Kendra Kilmer Page 8 of 13
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27. Let h(x) = f(x) If f3) =1, f'(3) = -2, g(3) =4, g'(3) = -5, f(27) = —1, and f'(27) = 6, what is

gl
O )= g0 1) B -F(x2) g 1)

(a) 19/16 @“)

(b) —162/5

Q-6/5  pn'[3)= gL (3£ 3 22-F(3) 5/53 (1) (6) (2 (-D(9)
643/16 (5(5)) ) 4z

(e) None of the above b4
| o \ 20 F,

%_.
5“ Z sz

2|25

28. The price-demand function for a particular product is p(x) = 522 — 4x where p(x) is the unit price when x l:o %0 é]
units are demanded. The company making the product has a cost function of C(x) = 42x + 13400 where x is
the number of items made and sold. Find the number of items the wmpany must make and sell_in osdcr o

maximize its profits. o £ 0 INC revenve fVnchos () splve ophmizadnn pov
46 items 0 lE-L‘D X PLX) yaumize P(O= - x*+480% - 13400 o1 [o,lBO.':D]
(b) B0 items p[_)L\ % (G’ZZ 4 7‘) |
© 80 items () = 5L~ Yyt b'lY)=~§ x+4€0
(d) 74 items R p'(X)=D when '33‘;*‘1‘5?{?3
(¢) None of the above . ‘0 v 4= D
@Fl nd e pofit fuact P(x)=-€

= Clv) g Vo

()Q" BRZLZ)LZ qyt- (47,)(1’|?>"100> @)= 2 N 2R {(,o.rcm_s)
= YgDx-4¥E=15H00 T~ ¢ >+ 80112400
xas A&MTambe odeted b

29. Suppose the number of students admitted into a program at Texas by

227

A(r) = 1+ 7¢ 061

where 7 is the number of years since 1992. Find the average rate of change of the number of students admitted
from 1996 to 2000. Answers are given to four decimal places.

= = - £3514046877
(d‘)t 8.1437 s:cudeﬁs/ycur ALE)- ALY _ 24 .. 352 5@45&22 126
(b) 32.5749 students/year 7 ~
(c) 75.7995 students/year //:; ] g ‘ 0‘ “/ q q S'I"UO’LW-]-S/\{ eav
8.9499 students/year
@Nonc of the above
Copyright © 2024 Kendra Kilmer Page 9 of 13
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30. A ship is observed to be 5 miles due north of port and travelling due south at 2 miles per hour. At the same
time, another ship is observed to be 12 miles due west of port and travelling due east on its way back to port
at 3 miles per hour. What is the rate at which the distance between the ships is Lhdﬂs;u\g" O 2, Z=

KBy 5=

(a) —2 miles per h 0 PR @ x=5mic
a) —2 miles per hour

46 *pe T | - g mhr VLT 4—+Z~; 43—22‘—0-('—3
B miles per hour XV a+

Week-in-Review#11 - Final Exam Review
Math 142 - Fall 2024, by K. Kilmer

= rnes
46 y=1e 6)( 2)+a(lz)l'3) A1y d+
© 3 miles per hour 3 povt A -3M/hf 72022
13 e 5 vl T ph - 42
(d) 7 miles per hour ) 4% _ 7 TS o
(e) None of the above we 5'“” need 2 2 "
oLt |2 -2 2z =13 m €5
25141 >2*
WA= 2
5 a, 2 =13
31. Evaluate the following integral:
Sr* 2\/i
5
(a) 5x11/6 _2x1/3 _3x-1/6 4 C ‘((.,,, ,/U --%>olx

30 17/6 _ 3.4/3 _ 18.5/6
7x / *zx/ 7?.1“/ +C _](SX 1% _3,.',0)J)‘
(¢) B0 _2x 2B Ix 704 C

z c. - e
d 5.3 3/2 3 6.5/6 C 5 L Z 3 -" *e
@) (3¢ 3272 3x)- 89/ 4 e 3 “/3 I& "”“
X 5 X

(e) None of the above .1 z

- y ; AFiaity, we ditioe by tne most pos.
2e* 43— 504 Xxsine Yis appmachl/ﬂ-)— 10ia ) we

32. Evaluate the following: lim Cm( in e dcnom. ¥

e %-‘AX & ™
3 32 _5 L Sk A
s = lim Zc*’*k?'* F m 1€ T O
(b) 0 ¥ 2300 2

c) 2/3 ?ﬁ
2 lim (n’; *}e’ﬂ 5) =-5 2e73 se'

) =|=5
) w©e 7o v
c~/~ (e) None of the above y300 Thvs, :m 3(3”* J S
lim ( 3) 2
Y%

Copyright © 2024 Kendra Kilmer Page 10 of 13
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33. The price-demand function for a particular product is p(x) = 508 — Sx where p(x) is the unit price when x
units are demanded. Use the marginal revenue function to approximate the revenue from selling the 22"

Week-in-Review#11 - Final Exam Review
Math 142 - Fall 2024, by K. Kilmer

item. R(Y)=xpl ) Firol R'(n=1) ToQpproXi mafC . I
298 = (508~ 5%)

(b) $278 = 508 %~ oL

(c) $303

(d) $288 K'(QLSOS’* 104
(e) None of the above K'( ,L,I/_'v__’ RYZI) - SO‘K-IO(ZP

e vevene £om e 22" [tem Vs appox $278

™
N
4 b
34. A Riemann Sum with 4 subintervals g/equal width and heights chosen to be the left endpoint of each
10
subinterval is used to approximate (3x* 4+ 7x — 4)dx. What is the area of the third rectangle? Note: I am
2
referring to the third rectangle whcn[vmmanglcs from left to right. /)F ( ﬁ)
=b-a
@22 AV, &
) 244 =0Z-%£-7
4 4 &
(c) 488 vl
\9" Z"' 3
(d) 146 t ] !
(e) None of the above 7 U b (4 )0
Avea of- = 9. £10)
2% vectong C

> ( 200 Y)
=2 (140)°]292 |

(1

35. Given the graph of f(x) below, for what value(s) of x is f(x) non-differe

(a) x=0and x=4.5only

xz ~5,x=0,x=4.5, and x = 6 only

(€) x=—5,x=0, and x = 4.5 only

d) x= Sandxf6only_(:~lsm"_ . %*M“OPC
eentiable 7 of meaged’
(¢) None of the above ~ hFFee ot ckvd B
\r)m'('a\ @ £ s & corney 0y cusp
o )("CDH' 40 ® € has a vertical W line,
Copyright © 2024 Kendra Kilmer Page 11 of 13
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36. Given f(x) is continuous over (—oo,8) U (8,e0) and f'(x) = %. Which one of the following is -
FALSE? . v (X)) ,
CvﬂaA’C 6130 onovt e __F__(L,'} Va & / , &
(a) f(—4)is alocal max ¥ ‘E\'U‘);O when Y= _7;) X= 'F‘ + _ —+ ; +
is a local mi - ——=1 } t
(b) f(3) fs-dlocalmm"r -F'L*B INE when X=€ *.6_4{ %=0 3 KBSW
@f{ﬂ) is a local max F oy 7
(d) f(x) is decreasing on (—4,3) T ¢ T
(e) The critical values of f(x) are x = —4 and x = 3. T ASO:V;‘//\‘ of

37. Given that the domain of f(x) is all real numbers, use the graph of f’(x) below to determine on what

interval(s) f(x) is increasing? 2
O EVAIIvarA :
(@) f—oo, =)W (0,3) W (5,0) ‘F' x| - / \’ :

(©) (=3,2)W(4,) " \ P K ::.::::::""'; i
© (-7,0)8(3,5) § v

(d) (—e0,—3)M(2,4) £is jncfc’asmﬂ whén

(e) None of the above _F' \'5 Pojlh‘lc (_\C O"h)"“ N

\
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b 1
38. Evalualc[ (41:2 e’ ;) = '-‘ 3 y‘+ nix ’
1

)
4 = %b‘c ®rnl Y] (il')"c*l\%@

Week-in-Review#11 - Final Exam Review
Math 142 - Fall 2024, by K. Kilmer

i Y

a) —b° —e’ +1n|b| — < —e
@ 3 17 3 *\L - rnlb) - §re
ib“—e"’+]n|b|—é—1+e ?
3 3
4 4 .
© 3-e 3b ¢’ 4 In|b|
4 3 h
@ 3¢ ---—b e —In|b|

(e) None of the above

2 5 d_
39. Find f"(x) if f(x) = 230 Axinx gy I -4 X

X

(@) f"(x) =4x+15x" —4(1 +Inx)

x(4x+ 15x% — ;) — (222 +3x° —4xInx)

(b) f"(x) = 2

(i>f”“’:3mz+f- O
= rizx>-4x

) f"(x)=2+12¢ o
(e) None of the above @ b "'Li ﬁ)

40. The graph below is of f'(x). If f(2) = 3, what is f(6)?

(a) -2
= £l0)-FL2)
o §£ (N)dv=
O qo-Ely S £10d
L (@) (\lé)
(e) None of the above 3* (}U, : R
i1l
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